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CERTIFICATE IN CRAFT AND DESIGN 
(POTTERY) (CCDP) 
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CD 

OET-001 : WORLD OF CLAY 
Time : 3 hours 	 Maximum Marks : 70 
Note : Answer six questions in all. Question no.1 is compulsory. 

Answer additional five questions from the remaining 
part. 

Compulsory Question 
1. 	Choose the most appropriate answer : 	10x2=20 

(a) Please match the suitable numbers. 

(i) Ball Mill 	(A) For taking water out of clay 
(ii) Mixing Arc (B) For beating of clay 
(iii) Filter press (C) For crushing clay 
(iv) Pug Mill 	(D) For mixing of clay 

(b) What are the different temper materials ? 

(i) Water, clay and air 

(ii) Cowdung, sand and ash 

(iii) Colours, paints and water 

(iv) Acids, bases and salts. 

(c) Which of the following is not an organic 
form ? 

(i) Cloud 	(ii) flower 

(iii) Stone 	 (iv) Boat 
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(d) Tertiary colours are : 

(i) yellow - orange, red - purple and blue 

- green 

(ii) red - blue, blue - yellow, yellow - red 

(iii) green - orange, orange - purple and 

purple - green 

(iv) red - red, blue - blue, yellow - yellow 

(e) 	The stages of product life cycle are : 

(i) Product, Price, promotions and place 

(ii) Product, Market, User and waste 

(iii) Introduction, Growth, Maturity and 

Decline 

(iv) Raw material, Machining, Finishing 

and packaging 

(f) 
	

Going Rate Pricing is : 

(i) The price fixed at par with the general 

(best competitors) price 

(ii) The price fixed on the cost incurred 

for various activities in producing and 

marketing of the product 

(iii) The price fixed depending on the 

qualities of the product. 

(iv) The price fixed as per the return 

expected by the producer. 

(g) A 300 meter long object is drawn on the 

paper having 6 cm length, the scale of the 

drawing is : 

(i) 200 : 1 (ii) 1 :200 

(iii) 1 	: 5000 (iv) 5000 : 1 

OET-001 	 2 



(h) Which of the following is right combination ? 

(i) Jabra - khadag Singh; Sultan - Halku 

(ii) Sultan - Baba bharti; Jabra - khadag 

Singh 

(iii) Sultan - Baba bharti; jabra - Halku 

(iv) Jabra - Sultan; khadag Singh - Halku 

(i) 	-{p7 179-17, 	QI R I 

Tf61T fcb-ft-f-EFR 	lqctrIlW II 

	

chl aii pit 11 lI 	I qt 

3rcid ? 

(i) -4T:1711 3T1:14 IFFI-k chi qic-r Tr)-4 t 

(ii) qoc-r 

(iii) 4  	t I 

(iv) -4 TtM    t 
(j) 	Slip is used for : 

(i) properly mixing the clay 

(ii) tempering the clay 

(iii) aging of the clay 

(iv) joining the clay 

2. 	Explain the meaning of the following verse. 	10 
"7T Trr4 Trq 	 -101 \TIN 

Tk1:19- "1:ffk 31-Efrzr 
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3. Show the process of making a pot by coiling 10 

process with the help of sketches of different steps. 

4. Draw five pairs of objects showing difference 10 

between Geometric and organic forms. 

5. Draw a sketch of your examination hall. Also 10 

mention its scale. 

6. Prepare two catalogues for your products. 
	10 

7. Draw sketches of different steps of washing of 10 

clay. 
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1311121- 001  
f7rFr Ti  rs,r*i (4•14wr4) wi-uul trq 

( 	 ) 

	 1d 1T 

kTlizTf, 2012 

aktzt-ooi : fit -4.  ft-Err 
F-rfar : 3 ETE4 	 37-Fg` afT : 70 

..t/d : 	wr-q?(,), d .TU 	TR7ZT 1 3.Trd-fzi 

arr-d-1?-4i7 	TiTrq 	 

31rdri 	 
1. 	7,1-4-4 3Traaci  	: 	 10x2=20 

(a) err "cfact.c1 rol*Q-4 • * f1:1111 

(i) 	fl=m- 	(A) fTrgl-  Dirt 	 rc-K.  
fl=ru-r 44 	(B) fi:ftlzfrd % rrl 	I 
fch- 7 tRzf 	(C) fTrgl. 	If 	t rM 

(iv) 4 11ti 	(D) fiTt 	fiTff(4 t rrl 

(b) TIPTIt awl 	I 

(i) 	-9-rt, fLit 311-{ Tqr 
TR3 

TT, 1d at{ -Errt 

(iv) 3-117 T, ULT AT -41:IT 

(c) T914 -# 	4N-W AWFT 	t ? 
(i) 
	

(ii) rff.  
(iii) 117-2TT 
	

(iv) a 
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(d) 	trT t : 

(i) 01(1--41-ft 	--11dr-- 

(ii) dm-11d', 

(iii) .-tiJ1-4-1-rt 3117 tYrr9-1- 

(iv) did-did,di-11dr, -E1-1-m--91- r 

(e) 3741-q l -G19b 1:13Tq : 

(i) 311-{ T2-1-N I 

(ii) TO:TK, 011,51R, 3411)-qTET 3-1tt cil-c181 I 

31P-111-9 (k18c1-1-1), 	,ARLicfacil 34lT 

frftraz I 

(iv) -w -t 4-11d, 

(f) 
	

rd 	figi-Tur t : 

(i) 	4=LTTr -F911-i-{-ur 'W4-11-4 tc04 pfd (3T .  

t-14-11-1T-0:1-K)) -1=r117 f*---zrr 

(ii)TIF:f chl fqq-i-{uTz-zriqt dc4-11q-1 -d21-14-114)1+1 

ch1 Fa 	Trf-d-r-a-Ftrz4 31-r 7A--4 t 34-KR 

iTt fRTrAldrtI 

-1=1 -WE figi711T ZO:IK cl;)-  quIc1711 

	 t 1 

(iv) Tel -WE f 9-41-Tur 3041qcb -g-RT 3-TdRid MIST 

(f 	[L4) 	31-KR -ER -4zur \An t 1 

(g) 
	

300 Tft. 	 chin>3f 11T 6 	. 

31TWR 14 G1.1v1i 4 iii 1 rcil cm. 	t : 

(i) 	200 : 1 	(ii) 	1 : 200 

(iii) 1 : 5000 	(iv) 5000 : 1 
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(h) -F-14--11•40d 'WTI.  He) ziq ? 

(i) fr 0541 ft ; 

(ii)  

(iii) ; 

(iv) ; 0541 

(i) 	TriqR, 	c411(1 

Tr6-Tiff 	th-r-R 	lAch-11W11 

	

-(a-qq c  	 
? 

(i) TTIIT 34-0 -chlzr chi €11c1 	ti 

(ii) ril4il al 41cid 	ttl 

(iii) .40 Tit 	• 

(iv) -4 err Tre tau 	 

(j) 	feu cni -5170( 	: 

(i) a-).1*-*4 fork 	 

(ii) ftrgl-  *1- - Turr77-r 

(iii) fiTt m1 0-4,1 	jc 	 

(iv) -Firgl-  chi ,T1)5 	c-Ni 	1 

2. 	F-14--1 rc-1 	r0 	t 340 ch1  try 	ii i 	 10 

-qr0 	Ti-4 -m4 . =1-4 AN-1 

7-k1:1-ff 	 10 TO 31-9-Rr 1" 
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3.  ch) -3-TIt 10 N fdfq 

r-cl 

4.  iI[Hc 	3-T1TR 	c=f 3-1T*-{{ 	atdt fq-U 	t f rI 10  

10 

-49-K t 

5.  3374 1:t-11 -4Fki.  chl fq-q 	 ch I 1-1)- 

-q--0 I 

6.  
10 

31-74 

7.  fTit 	 t tqfr r 	F=IA T  
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